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REVIEW

# 1. Binyamin and I agreed to play “natural” against their 1NT. 2 spades is a good choice. The defense went “normal”. With 2 outside Kings it is correct to lead AK of your long suit (Maybe there is a Qx lurking around). West had a difficult bid after 2 spades. X is reasonable, if you play negative doubles in this situation (I prefer penalty here). 
The 3 club bid at the other table is not understandable. Bidding should be 1NT X pass 2C pass 2S p p p

# 2. 11 tricks from the top in 4 spades. It is important for North to bid this 0625 even with only 8 HCP and broken suits. This is a sure 2 heart bid even red against white imo.
Without the intervention, South cannot find the best lead and 12 tricks are there.

# 3. Another difficult rebid problem. I dislike 3 hearts with this shaby suit, so I chose 3 diamonds (forcing) as the best lie. Binyamins 3NT is normal holding A10xx in the unbid suit.
Hearts are distributed 3-2 in 68%. The diamond finesse has 50% only. So the better play is to establish hearts.
The other table found the better 4 hearts contract and made easily 12 tricks.
Btw Jxxx is a terrible lead. I would prefer spade 9 or low club. In this hand it didn’t matter.
# 4. Same 2 hearts at both tables. I managed to make 9 tricks after the favourable diamond lead.

# 5. I thought my hand too strong and too one-sided for a weak 2, so I decided to open 3 hearts. Binyamin made a good tactical raise to 4. It is difficult to bid for West now. Double with only 3 spades not really attractive ..... So I went down 3 undoubled (misgiessing the spades).
At the other table South should raise 2 hearts preemptive to 4. As he passed Tom/Tom had the place and time to find their diamond fit.
# 6. After a partscore-battle I decided to double 4 hearts which could have made easily. If Binyamin had led a small spade declarer couldn’t go wrong and we had made 1 S, 1 C ruff and 1 D. After diamond lead the heart hook of the Q was reasonable after the bidding. But declarer must take 5C and 4H tricks for down 1. Very lucky for us.
3 spades were made without problems at the other table.
# 7. Another very lucky hand. I didn’t like my hand and made a great underbid of 1NT. So we stopped in 2 spades. For game you need spades 3-2 and 1 diamond honor onside. That is about 50%. So the game should be bid. My partner was irritated by my bidding, but I had a hunch. My stomach told me to bid cautiously. 
In general I tend to bid very high with distributional hands and fit (e.g. #5) but I’m reluctant with balanced hands especially 4333.

# 8. Another lucky hand for us. Opponents bid a close game and I misplayed the defense, when I didn’t returm  a club at trick 9. I must see, that there are 3 tricks at the table (SK, DK7) so the play of a spadse was futile.
But declarer played as bad as I did and went down 2.
# 9. This time a well deserved partscore swing for us.
I made one of mine “not in the book” weak 2 openings and was allowed to play 2 hearts, which I made against not very dynamic defense. There were about 3 bad mistakes in the defense. I should be -2 or 3.3S 
Tom/Tom bid and made 5 against imperfect defense too. 
The lead of heart A gave a trick and the unecessary ruff and sluff at the end another.
REMEMBER: To lead an A is a mistake in 99,9% of all cases. Even against a slam think twice before you lead an A. Aces are the most valueable crads in the deck. They are to catch opponents honors and to take control not to beat hot air. And South has a foolproof club lead.
The game shouldn’t be bid, but the answer of 1S to the X doesn’t describe this nice hand. You have a perfect jump to 2S.

# 10. Another decision “out of the stomach” not to bid over 1NT and perfect defense brought us 1NT-4 = 400, while at the other table North manged to make exactly 2 spades.

 In the half our lead was 45 : 2 only losing 2 IMPs at #3, when we played only 3NT instead of 4 hearts.

# 11. The second half brought a lot of slam decisions. This hand was the first. Binyamin decided to treat this hand as game-forcing. I’m not convinced of this bid. The hand has only 3 QT and too few defensive tricks. We hadn’t discussed the answers to 2C and so I bid a ambiguously 2D. After 4C I asked RKCB without S and D control (normally a crime), but after all he opened 2C. I couldn’t believe the answer 5S (2 keys and trump Q) that meant he had AKQxxxxx in clubs and no more A. But I had to bid 6C anyway.
I’m not proud of my bidding.
The other table opened 1C and Tomasz intervened heavily. North MUST double 1S negative. After that South could easy gamble to slam.
# 12. A transfer sequence let us stop in 2H and go -1. 
At the other table South refused to open 1NT (why??). The double of 2C was ok, but after 2S he MUST pass. He had told his story. If he had passed Tom/Tom would be in trouble. As the cards lay 3Nt is not to loose, but would they find it?

# 13. 6NT at both tables. 6C is the better contract and has 75% chance. I’m not proud of my bidding.I could see, that 6C is better.
I had no chance losing 2 Ks, but at the other table Thomasz mad a big mistake not to take DK, especially holding SK too. Now the hand could have been made by means of an endplay (or maybe a squeeze – not in this hand but you cannot know this).
But this was the ominuous #13 lol
# 14. Next slam hand. My hand seemed me too strong for 1NT, so I opened 1S. After partners 2D I had no choice but to bid 3NT, because we didn’t play “2 over 1”. With 2/1 I could bid 2NT showing 12-14 OR 18-19 and my next bid would be a quantitative 4NT
A favourable lead and every card rite let me make 13 tricks. But I’m not sure, if this is a good slam. There are so many things to think of, very difficult to calculate.

# 15. Same bidding at both tables. The lead gave my the CQ. I couldn’t find the diamonds. Restricted choice says it is 75% in favor of the finesse.
At the other table Tomek was lucky to find the much better spade lead. Ater that it was difficult to take 11 tricks, even finding the diamonds.

# 16. We played a mere 1S just making (Guess my partner should bid 2C or 1NT at least). In the other room opponents bid to an ambitious 3NT, which had no chance against normal defense. (you must lose 2S 2H and 2C from the top. 
# 17. Tom/Tom bid a close 4H, while our opponents stopped in 2H.The 2H rebid by EAST is very chickened. This is a nice hand knowing that partner has though minimum balanced at least 2 hearts. Here the 3H bid is a must.
At the other table Tomek had it easier to describe his hand after the (very bad) 1S overcall.
1S is terrible imo on this 5332 and assembly of Qs and Js.

# 18. Binyamin made a good decision to sac in 5D. I was very tempted to try 6D, but I was afraid 6H could be on. In fact 6H has a 75% chance. There must be only 1 spade honor with North. So the hand produced a washout.

# 19. Now a big disaster was coming. I opened another of my “non-book” weak 2s. Binyamin raised to 4 (counting his 14 HCP). But there is no hand thinkable, where 4S would be on, which I didn’t open 1S, but 2S. And to sac in advance he had the totally wrong distribution. He has too much in defense and no controls in the reds. Compare this hand with #5, where 4H was a great bid holding all the hearts and no HCPs.
We got, what we deserved and lost 13 IMPs.
Sorry partner my fault. I shouldn’t open such a hand.
# 20. Here West run into my open knife. Pass is obligatory after 2D. He should be alarmed by my 1NT, which I disliked, but I could not pass and X would show shortness in spades.
In the play my partner missed to ruff my high spade with the Q, but that didn’t matter because decakrer had 10 and 9 of trumps. Perhaps I had better taken the second spade instead of letting partner ruff. In the other room the better rebid from South is 2D not 1NT imo.
